Name Regrouping with
/{‘ multiple addends
L SV TSR

Funny Bone

. Use the same steps to add several addends. Some columns will require
regrouping, and some will not.

Add. Then use the code to find the answer to the riddle below.

W. T. P. N. 0. E.
1,233 6,314 2,305 1,238 3,541 3,525
1,442 3,380 2,404 6,281 309 2,213
+ 5,226 + 2,606 + 2,439 + 5,366 + 7,845 + 9,281

H R. S. ! A. u.
444 4,327 4,024 5,441 2,653 5,560
7,283 4,331 678 421 3,338 4,202
+ 8,217 + 1,746 + 4,505 + 3,954 + 2,924 + 1,541

What is the difference between a man and a running dog?

11,695 12,885 15,019

7,901 15,019 8,915 10,404 9,207

12,300 10,404 11,695 11,303 9,207 15,019 10,404 9,207.

12,300 15,944 15,019

11,695 12,300 15,944 15,019 10,404

Mh

7,148 8915 12,885 12,300 9,207 9,816
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